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Package used

Matplotlib Numpy
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Train.csvHJEE

i A AR

Unnamed Ao
Name kit ey
Location BB PR TR MR,
Year BN MED
Kilometers_Driven ETHRERE(LE)
Fuel_Type A/ A B 4R
Transimission FIERI
Owner_Type ABELR TEAFRE
Mileage S 155HF
Engine 5| ZIRIE
Power 7]
Seats BRI BRI 2
New_price WTER(ETE
Price ZABERNER
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print (train. shape)

temp = train[train[ Kilometers Driven’ ]>400000]. index

train. drop(temp, axis = 0, inplace =True)

print (train. shape)
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engine val = pd. DataFrame(columns=[/Angzine value' ])
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M=['Engine_.

train = pd.concat([train, engine val,

e = train[ Engine’][1].split() [

train[’ En*lnv ralue’ 1[1] = walue
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train| Engine meazure ] .value_countz(]

A
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Name : Engine measure, dtype: intfd
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is_automatic = pd.DataFrame (cc

train = npd.concat(|[train, 1s automatil

in train.in

value = train[ Tra

if wvalue == ’Automatic’
train[’ i
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train[’ is_automatic’ ][i]
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-train:i: = trainli]. astype( float3?2’ & rPOWGr_ValueJ EZ%?—?’%&%’Q

test[i] = test[i].astype( flo
print (train. shape) 1

cat = train.select dtypes(include= object’) S
&£ FA LabelEncoder # %5 & %
i in cat.columns: rOb_jeCtJ E@ﬁﬂﬂﬂi%ﬁ.'fb - B

le = LabelEncoder () ﬁﬂﬂ%ﬂ?*ﬂ

train[i] = le.fit transform(train[il)
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{ train, X test, v train, vy test = train test split(train, train target, test size=0.15, random state=4)

Train Tese
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train_target = train| 'Price']
train.drop('Price', axis=1, inplace=True)
means = train.mean() ﬂTPﬁ%%?%{ﬂ #4¢EJ%TE

stds = train.std()

train = (train - means)
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Kilometers_Driven SITRERS(LE) Power_value BEEE
Fuel_Type YRR/ AR B 4R is_kilometers_driven_less_80k |  B{TERERIZEIENIN8EH
Transimission IR is_diesel EEHEH
Owner_Type AERB TEFREG is_automatic EamEPE
Seats YR B AR R is_2_seats B AW A B
Mileage value 19 0mFE
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booster : gbtree T2 84/ dart(iRR BB A 4509 dropout #fla 7802l

boosted #&)/XGblinear -

Eta: EE R sl EmE10.01-0,2 2

gamma: FSIR%E - BT D RPIENS/NERKNE T FEE - E51E

ZEMNEHBAX  EEHARS - SERSBVENERNESE -

Max_depth : BRENJRANRE @ EEESE3-102H -

Iambda: EENL21EAINEIE - EES2E2RREHIXGBoostHy 1ERI{EED
D

alpha EERLLERIEIR - oJDUERAERSHENIERL N - FEEEN
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ERRESH
—XGboost Grid Search

EMRMNERun W HEHR
AHBREEE %éi \§E3240 H ° ]I?I\ B SEE R 2R -

Booster Gbtree, dart 2

Eta 0.01, 0.05, 0.1 3

Gamma 0,05,1 8

Max_depth 3,5,7,9 4

Lambda 0.1,1, 10 3
Alpha 0.1,1, 10 3 param_grid=param_grid,

CcVv 5

Total Run 3240
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-XGboost Grid Search Result

PMNEREZSEMAES - MSEEAL1.21 - AccuracyiE
RIESEAT

Booster Gbtree

Eta 0.01
Gamma 0.5
Max_depth 7
Lambda 0.1
alpha 0.1

Test MSE 121

Accuracy 0.87536
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